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1.

'The man is no fool'. Which literary device is used in the statement?
(1) Euphemism (2) Periphrasis
(3) Litotes (4) Epigram

'T am myself personally responsible for this,' is an example of what figure
of speech?

(1) Hyberbole (2) Tautology
(3) Apostrophe (4) Anaphora

What are the figures of speech used in the following lines by Blake?
"Tyger, tiger, burning bright

In the forest of the night

What immortal hand or eye

Could frame thy fearful symmetry?"

(1) Simile and personification (2) Irony and synecdoche

(3) Apostrophe and synecdoche (4) Metonymy and apostrophe

Hamlet, lying wounded, says to his friend, "Horatio, I am dead." This is an
example of?

(1) Protasis (2) Anacrusis
(3) Prolepsis (4) Pun

"You have seen how a man was made a slave; you shall see how a slave was
made a man" is an example of?

(1) Bathos (2) Epistrophe
(3) Chiasmus (4) Anti-Climax

A pause marking a rhythmic point of division in a line of poetry is called a/
an?

(1) Lamb _ (2) Foot
(3) Caesura (4) Kenning

A dactylic (the noun is dactyl) consists of?
(1) A stressed syllable followed by an unstressed syllable.
(2) An unstressed syllable followed by a stressed syllable.

(3) A stressed syllable followed by two unstressed syllables.
(4) Two stressed syllables followed by two unstressed syllables.

PG-EE-2022 (English) Code-A
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eward plods his weary way" is an example of?
" (2) Litotes
(4) Hypallage

storical device in which (complete the sentence with

"The ploughman ho1
(1) Oxymoron
(3) Antithesis

"Aposiopesis’ 18 a rh

. tion)
mov: wmﬁmMMm_nﬂbmm completed but half-heartedly.

. h is completed on a sad note and often reflects a pessimistic
(2) A speech

ending.
(3) A speech isco
(4) A speech is bro
"i le of?
" beggers a few coppers” 1s an examp
he gave the begg i
(4) Metaphor

ded on a happy note. ) .
:M“ Mm. abruptly and the sentence is left unfinished

(1) Synecdoche
(3) Simile

L | Fate smiles those who untiringly grapple with stark realities of
11. a

life.
A:m With (2) Over
(3 On (4) Round

For questions no. 12 and 13, Please read and find Error detection:-

Little water that was left/in the bottle was not enough/to quench the thirst
of two persons/.

(1) little water that was left

(2) inthe bottle was not enough

(3) to quench the thirst of two persons
(4) no error

12,

14,

15.

fouestion , Code-A
~=mm:c:;
rF Questions

Pick out the most effective word from the gi i
ve
blank to make the sentence meaningfully MQBM~MMwmm *ofilinthe
he is disabled, he is an excellent singer,
(1) Despite (2) Though
(3) Even (4) Unfortunately

He is willing to make 2 concession
(1) To (2) On
(3) For 4) At

the demands of his employees.

16.

Find the synonym of the word Outlandish:-
(1) Unsavoury (2) Unique
(3) Wondrous (4) Strange

17.

Find the antonym of the word Obdurate:-
(1) Daring (2) Nocturnal
(3) Yielding (4) Simpleton

13. | This project which is funded/by the United Nations/ has helped over four/
lakh Indians overcome poverty.
(1) This project which is funded
(2) by the United Nations
(3) has helped over four
)

lakh Indians overcome poverty

18.

Change into indirect speech;

Raisa: "Could you bring my book tonight”"

(1) She had asked me to bring her book that night.
(2) She asked me to bring her book tonight.

(3) She asked me to bring her book that night. .
(4) She did ask me could I bring her book that night.

19.

I reiterated, "I Don't care about the job."

(1) TIreiterated that I did not care about the job.

(2) Irepeatedly said that I cared about the job.

(3) Isaid, again and again, that I did not care about the job.
(4) 1reiterated I did not care about the job.

20.

PG-EE-2022 (English) CodeA
2)

r

Out of the four alternatives choose the one which can be substituted
for the given words/phrase

He was down in the mouth as he was defeated in the elections.
(1) Unable to speak (2) Very depressed
(3) Very angry (4) Very confused

PG-EE-2022 (English) Code-A
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hich can be substituted

four alternatives choose the one W
e words/phrase head
for the g% e.;‘,“vercome {his situation if you keep your hea=.
You can easiy @ (2) Believein

(eep faith in in calm
(}3)) }F:ust others (4) Remain

~{he voice of the given sentences (Sentences 22-23)
g\lza\:leg}a paid a visit by Mr Iianerjee.
(1) Mr. Banerjee hfad visited us.

(@ Mr. Banerjee v1snted.us. o
(3) Mr. Banerjee ha§ paid us gt\qs, )
@4) Mr. Banerjee paid us a visit.

i os fell great oaks.
I(Jll)ttle(}srtt:;tk oaks fell with little s?rokes
@) Great oaks were felled by lllttle' strokes
(3) Great oaks can be felled \ylth little strokes.
(4) Great oaks are felled by little stlrokes. -
Which parts of speech do the upder})med words show?
X er views?
?};e l)\)]‘::fl\l me round to her 1(2) Adverb
(3) Noun (4) Preposition

¢ the correct option:-
g‘;):formation of the sentence: Simple to Ct_mlpound
He must work hard to make up for the lqsl time.
(1) He must work hard, cover the lost time.
(@) Making up for the lost time he must work har@.
(3) He must work hard and make up for the‘lost time.
(4) Working hard will make up for the lost time.

Fill in the blanks with the correct option:-
_, theyslept soundly.

(1) Hot though was the night air

(2) Hot though the night air was

(3) Hot was the night air that

(4) Hot although the night air was

PG-EE-2022 (English) Code-A
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27. | Identify the clause of the underlined part:
Stand still, if you value your life.
(1) Principal clause (2) Noun clause
(3) Adjective/relative clause (4) Adverb clause
28.

He nervous until I told him to sit down and relax. (Fill in the
blank)

(1) hasbeen looking

(2) looked
(3) waslooking

(4) may look

29. | You ____ have hurried but you did. (Fill in the blank)
(1) couldn't (2) mayn't
(3) needn't (4) ought to
30. | Ram hasrevised all day. He ____be ready for his examination. (Fill in
the blanks)
(1) Should (2) Can
(3) May (4) Would
31. | ldentify the clause of the underlined part:
He came in while [ was out.
(1) Principal clause (2) Noun clause
(3) Adjective/relative clause (4) Adverb clause
32. | ldentify the option in which the word 'right' is used as noun.
(1) Thisis a fault that will right itself
(2) Heis the right man for the position.
(3) Taskitasa right
(4) He stood right in my eyes.
33.

The old newspapers were thrown away by me. (Change the voice)
(1) Tthrow the old newspapers away.

(2) The old newspapers are thrown away.

() Iam throwing away the old newspapers.
(4) Ithrew away the old newspapers.

PG-EE-2022 (English) Code-A
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Which pair of w
) Lunatic-mad
3) Knowledge-ignorance

Identify the synonym of the word 'vigilance"?
entlil)

(1) Corruption
(3) Vindicative

SET-X
Code-A

Questions

T .
ords are similar in meaning:
: (2) Guest-Host

(4) Aversion-liking

D)

2) Weird
(4) Watchfulness

36. | "To make both ends meet" means:-

(1) Tie a rope at both points firmly

(2) Bring two opposite things together

(3) To meet one's day-to-day needs.

(4) To bring two contradictory ideas together

37. | My friend
(1) callup
(3) calledin

me yesterday.
‘ (2) called off
(4) called on

38. | The referee was booked
awarded the team.

his decision regarding a penalty he had

1) in @) by
@) for (4) at
39. | Abanyantree __ to be here when we were children.
(1) must (2) may
(3) should (4) used
40. | Did he criticize my arrangements?
(1) need (2) ought
@) dare (4) must
PG-EE-2022 (English) Code-A ©

””:1“.'.""1 Questions
Read the following passage and answer questions:
There is a common thread running through the unravel
statistical system. A modern economy with sound i
characterized by the timely dissemination
policy needs an empirical basis and issue
influence investment decisions. In a country with g large population of
youth, data on national development, especially in core sectors like
agriculture, industry, health, education and employment, will be critical.
Here comes the role of the National Statistical Commission, a body created
to establish standards. Questioning the data i
phenomenon. The official narrative is always quest
the other side of the fence. Dissemination of econo
reach out to the public who lived their reality. Lac
impact the quality of national polici 1
institutions such as the central statistical commi
must be granted autonomy and insulated fro
Enhanced operational autonomy will make their
of operational autonomy is their ability to stick t.
regardless of what the data indicates.
41. | What is important for
(1) A common thread
(2) Dissemination of credible data
(3) Unravelling of statistical system
(4) Selective Distribution of Data.

ing of India's
_ nstitutions ig
of credible data. A long-term

s of the veracity of data will

mic data is essentia] to
k of data will adversely
ust start strengthening
ssion. These institutions
m external interferences.
work credible. An indicator
o0 a dissemination calendar

a modern economy?

42. | What is the work of National Statistical Commission?

(1) Establishing Standards

(2) Questioning Data Veracity

() Questioning Official Narrative

(4) Supporting the Public Perception
43. | What does the
Commission?
(1) Restricting policy decisions

(2) Critically examining data veracity

(3) Stick to a calendar of data dissemination.
(4) Support development in core sectors

PG-EE-2022 (English) Code-A

passage ultimately suggest to National Statistical
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estment decisions are impacted by:

(2) National Development .
(4) Establishment of National Institutes

Inv :
(1) Youth Population ‘
(3) Issues of Data Veracity

. .. . N
How can the quality of national policies be improved?
(1) By living reality .

@ By supporting external mterfexjenc.es

3) B\ controlling autonomous institutions

4) By enhanced operational freedom

he following passage and answer the questions:-
Rea‘:’:?}faps what bithered the media in the 1970s was the shift in liberty
being suggested. For centuries, journalists had operated on the basis of
negative liberty, or freedom from external restraints. Suddenl}f, however,
the thrust was positive freedom: a freedorp _ft_‘)r the pursuit of some
predetermined goals. This new social responsibility seems grounded on a
school of thought that sees negative liberty as 1nsufﬁc1.ent and 1neffect1_ve,
somewhat like telling people they are free to walk without first making
sure they are not crippled. Who better than the government is able to
provide humanity with appropriate means? A ggvernment, even a
democratic government, is seen by social responsibility ad}lerents as the
only force strong enough to guarantee the effective operation of freedom.
This does not mollify observers who find social responsibility to be only a
slightly disguised version of authoritarianism. Media philosopher John
Merrill has been one of the most outspoken critics of the theory. To him,
the proposition that pluralism of ideas should be governmentally mandated
is ludicrous. Journalists, he says, must retain their freedom to make their
own news and editorial judgements. Even well-intentioned attempts by
outside groups seeking media improvement are self-serving, and inevitably
lessen the autonomy of journalists, Merrill maintains, This leads us to the
issue of media autonomy '
What was the basis of the operation of journalists earlier?
(1) Freedom of limited choices
(2) Social responsibility

(3) Free from outside pressure

(4) Government control

®

SET-X
Code-p
[Ruestior Questions ‘
No. |
47. | According to John Merrill, seeking improvm‘.
(1) Appropriate (2) Well-intentioned ‘
(3) Inevitable (4) Self-serving \
48. | The passage critically analyses: :\
(1) Operation of journalists |
(2) Mandate for government \
(3) Social responsibility theory of media ‘
(4) Regimented autonomy of journalists i
49. | Some scholars consider social responsibility aspect of media as: (\
(1) Negative freedom (2) Pluralism “
(3) Democratization of media (4) Authoritarianism \
50. | Positive freedom means:

(1) Grounded thought (2) Pursuing certain set goals \

(3) Freedom with conditions (4) Providing identified means ‘

|
Read the following passage, and answer the questions:-

Skinner's system, reinforcement is automatic, almost by definition. Perhaps‘
the most convincing demonstration of the automatic effect of a reinforcer
is what Skinner (1948) has called "superstitious behaviour". In this situation,
an event known to be reinforcing is presented intermittently without respect
to what the subject is doing. But if it is doing anything (and this can be
made likely through deprivation, etc.), the response just prior to the delivery
of the reinforcer is strengthened, as evidenced by an increase in its rate of
emission. The subject comes to "act as if" the response that has been
fortuitously strengthened somehow produces the reinforcement. This occurs
even though the reinforcer is actually delivered by a mechanical device
that is in no way responsive to the subject's behaviour. The automatic
effect of reinforcement is also illustrated in Skinner's effective techniques
of shaping behaviour, These procedures could hardly have sprung from a
point of view that regarded all behaviour as elicited. But with the organism
viewed as "emitting" the varied responses already in his repertoire, it was

PG-EE-2022 (English) Code-A
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i i the observer simply controlled the
an easy step 10 00“0?1"9 Ofxt?;:iz;ntgh:li he could strengthen any behaviouy
ot mit. i?esponses not in the subject'g repertoire
appropriate arrangements of environmental
tion technique.
elated to his

quick presentation o
the organism happened lto e
could then be built into it l}y '
conditions and the successive approxima  tec
The procedure of shaping a subject's behaviour1s r
(a) Susceptibility

() Desire for reinforcement

(c) Responses already in his repert.oire . .
(d) Responses reinforced by approxxmgtlon .techmques.
Choose the correct answer from the option given below:-
(1) (a)and (b) only @) () and (c) only

3) (c) and (d) only (4) (a) and (d) only

52. | According to Skinner, the superstitious behaviour of individual is the
outcome of
(1) Constant exposure to an event

(2) Exposure to an event without regularity
(3) Occasional exposure to an event
(4) Natural exposure to an event

53. | The delivery of the reinforcer gets strengthened due to
(1) The subject's involvement in the event

(2) Increase in the rate of reinforcement

(8) Factors such as deprivation

L (4) The use of a mechanical device

54. | The responses that are not in the emission list of a subject, can be observed
by

(1) Coercive measures

(2) Creating suitable environmental conditions
(3) Inhibiting his natural emission behaviour

(4) Using mechanical devices for reinforcement

PG-EE-2022 (English) Code-A
(10)

Ruesti
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55. | The example of a mechanical device reinforcing t ject' ;
demonstrates ioreng the subject’s behav;our
(1) The automatic effect of reinforcement
(2) The illusion of reinforcement
(3) The discrepancy in subject's behaviour
(4) The belief that every reaction is an act of reinforcement

56. | Train A lanes Mumbai for Pune at 5:30 a.m. and reaches Pune at
9:30 a.m. Train B leaves Pune for Mumbai at 7:30 a.m. and reaches Mumbai
at 13:30 hrs. At what time will these two trains meet?
(1) 7:42am. (2) 8:42a.m.
(3) 9:12a.m. (4) 8:48a.m.

57. | Find the compound interest on Rs. 8000 at 15% per annum for 2 years 4
months, compunded annually.
1) 2109 (2) 3109

1@ 4109 (4) 6109

58. | A person incurs 10% loss by selling a watch for Rs. 1,800. At what price
should the watch be sold tq earn 10% profit?
(1) Rs.1,980 (2) Rs.2,160
(3) Rs.2,220 (4) Rs.2,360

59. | The average age of a class of 59 students is 18 years. If the age of the
teacher is included, then the average increases by 3 months. The age of]|
the teacher is
(1) 28years (2) 30years
(3) 33years (4) 35years

60. | IfDRIVER =12, GOVERNMENT = 20, BELIEVED = 16, then BAT =?
1) 6 @) 8
@3 10 ) 12

PG-EE-2022 (English) Code-A
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61.

| 62

1 1 imple interest. What wil]
| 63. Hhero is G0% increase in an amount in 6 years at simp
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BTV TR ——
f \ doubles at compound interest in 6 years. In how many
oney S
A sum of mone) : ¢
ears will 1t become 16 times -
years

(2) 24 years

(1) 16years () 96years

(3) 4Syears

than Sameer. If]
i i 30 km, Abhay takes 2 hours more

]AI; ;O\'Ol’({lgltlll:ilslz:f::éd. then he would take 1 hour less than Sameer,
Abhay s S

Abhay's speed is: )

(1) 5kmph 2) gl;:;:];; )

(3) 6.25kmph 4) 7. p

be the compound interest of Rs. 12,000 after 3 years at the same rate ?
(1) Rs.2160 (2) Rs.3120
(3) Rs.3972 (4) Rs.6240

1
[ 64.
\

PG-EE-2022 (En glish) Code-A |

In an examination 80% candidates passed in Englis_h and 85% cand.id.ates
passed in mathematics. If 73% candidates passed in both?these subjects
then what percent of candidates failed in both the subjects?
1) 8% @ 15%
3) 27% 4) 35%
65. | To complete a work, A takes 50% more time than B. If together t.hey take
18 days to complete the work, how much time shall B take to do it?
(1) 30days (2) 35days
(3) 40days (4) 45days
66. | Which of the following fractions is the smallest?
(1) 61/256 (2) 121/512
(3) 9/32 (4) 31/128
67. | How many digits are needed to write the numbers from 1 to 1002
(1) 100 (2) 198
(3) 99 4) 192

(12)
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No Questions

68. | Aboat can travel withas
stream is 4 km/hr, find th,
(1) 2hours
(3) 4hours

peed of 13 km/hr in sti]| wat,
e time taken by the boat o g
(2) 3 hours
(4) 5hours

69. | Ina group of 26 persons, 15 like tea and 18 like coffe
dislikes both. The number of persons who like both
1) 9 2) 7

® 5 @ 3

tea and coffee jg?

70. | The simple interest on a certain
is half the compound interest on
The sum invested on simple interest is:

(1) 8750Rs. (2) 1750 Rs.
(3) 2500Rs. (4) 3500 Rs.

Language allows us to talk about the thin
immediate environment, Which of the
property of language?
(1) Arbitrariness

3) Productivity

71.

(2) Displacement
(4) Discreteness

72. | Who among the following coined the term 'aesthetics"?
1)  Arthur Danto (2) Alexander Baum garten
(3) Immanuel Kant (4) David Hume

73.

Which of the following descriptions is of the unit of verse, Dactyl?
(1) One stressed syllable followed by three unstressed syllables
(2) One stressed syllable followed by two unstressed syllables
() Two stressed syllables followed by one unstressed syllable.
(4) Two stressed syllables followed by two unstressed syllables.

er. If the speed of the
068 km downstream,

€. There is no one who

sum of money for 3 years at 40 per annum

Rs. 2,000 for 2 years at 10% per annum.

gs and events not present in the
following terms describes this

PG-EE-2022 (English) Code.A
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74. | Using the expression "Crown" for the monarchy is an example of:
’ (1) Metonymy (2) Synecdoche

(3) Irony (4) Metaphor

75. | "Heroic Couplet" consists of:
(1) two lines of rhyming verse
(2) tworhyming lines expressing complete thought
(3) tworhyming lines in iambic penta-metre expressing complete thought
(4) two rhyming lines in iambic hexa-metre not expressing complete

thought

76. | Who won the Nobel prize in Literature in 2021?
(1) Abdulrazak Gurnah (2) Louise Gluck
(3) Olga Tokarczuk (4) Ellen Mattson

77. | Pulitzer prize is not given in the following:-
(1) History (2) Poetry
(3) Geography (4) Music

78. | Which book won the Booker Prize in Literature in the year 20227
(1) Cursed Bunny (2) The Books of Jacob
(3) Heaven (4) Tomb of Sand

79. | Who won Pulitzer Prize for both Poetry and Fiction?
(1) Robert Penn Warren (2) Robert Frost
(3) Edward Albee (4) Samuel Barber

80. | Who won Sahitya Akademi Award 2021 in English novel?
(1) Sanjiv Verenkar (2) Kiran Desai
(3) Namita Gokhale (4) Sanjiv Varavara

L
PG-EE-2022 (English) Code-A
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81. | Whois the first woman to win Sahitya Akademi Award?
(1) Amrita Pritam (2) Arundhatii Roy
(3) Anita Desai (4) Bratya Basu
82. | Who became the first black women to appear on US coin?
(1) Maya Angelou (2) Toni Morrison
(3) Wangari Maathai (4) Alice Walker
83. | 'Eublepharis pictus' which was seen in the news in June 2022, belongs to
which species?
(1) Turtle (2) Spider
@3) Gecko (4) Snakes
84. | Who among the following has been appointed as Vice-chief of Army Staff
recently?
(1) VR Chaudhari (2) BSRaju
(3) Manoj Kumar Mago (4) PKPanwar
85. | PM Narendra Modi inaugurated Semicon India Conference 2022 at:
(1) New Delhi
(2) Vadodara
(3) Bengaluru
(4) Surat

PG-EE-2022 (English) Code-A
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6. ~ Which state cabinet approved 'Gene Bank' a first of its kind project in 91. | Which company recently surpassed Apple Inc. to become world's most
<6. hich s
India for Biodiversity conservation? valuable company?
(1) Gujarat (2) Uttar Pradesh (1) TeslaInc, 2 Amazon
| (3) Himachal Pradesh (4) Maharashtra

(3) Saudi Aamco

(4) Alphabet Inc

S

i

Name the scientist from NASA who received World Food Prize 2022 for
| her/his research in climate change & food production?

92. | Which ofthe following has been crowned 2021/22 premier League championg

recently?
| (1) Rattan Lal @) Cynthia Rosenzweig () Real Madrid (2) Cheslea
| calnt :
[ 3 David Nabarro (4) Howarth Bouis () Manchester City (4) Paris Saint Garman
W ix 2
88. | Who has won the formula 1 Grand Prix De Monaco 20227 93. | Which Indian personality was recently honoured by the Geneva baseq
| (1) Sergio Perez @) Carlos Sainz Jr Martin Ennals Foundation?
/‘ (3) Max Emilian Verstappen (4) C Leclerc (1) FatherStan Swamy
89. [ Who is the new Lieutenant Governor of Delhi? (2) Varavara Rao
|
’ (1) Vinay Kumar Saxena @3) Sudha Bhardwaj
; (2) Sanjeev Dixit (4) Anand Teltumbde
(3) Manish Takkar -
/ . 94. | Bharat Rang Mahotsav 2022 is being held from July 16 to August 14 in
(4) Vinod Ram Sharma
ﬁ‘\l _ which city?
90. | What is the theme of World "No Tobacco Day" 2022 that was observed (1) Maharashtra
[ across the Globe by WHO?
(2) Chennai
| (1) Quit Tobacco to be a Winner
3) New Delhi
(2) Make everyday World No Tobacco Day ) NewDs

r (3) Tobacco breaks heart (@) Banatss

(4) Tobacco - Threat to our Environment

PG-EE-2022 (English) Code-A
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1 1 0,
. < to be declared as the "First Cultural and Tourism Capital of
“Which aity 1s to as Q

100. | In the recently released World Economic Forum's (WEF) Global Gender
Gap Index, What is the rank of India held?
(1) Tokyo @) Varanasl (1) 135"

‘ @ 112 @) 128"
Which is the state bird of Uttar Pradesh, that has been adopted as new

logo of NOIDA international airport?

95.

. . )
the Shanghai Cooperation Organization (SCO)"?

: (2) 137
(3) Rome (4) Venice

(1) Sparrow (2) Lesser Falcon
(3) SarusCrane (4) Peacock

97. | Which organization has launched its global '‘Be Internet Awesome'

programme for children in India?
(1) Facebook (2) Apple
(3) Microsoft (4) Google

98. | Which city is the host of the International Film Festival of India (IFFT)

20217

(1) Varanasi @) Goa
3) Cochin

(4) Puducherry

Which Indian cricketer has been invited as the guest of honour at the
Indian Film Festival in Melbourne in 20227

(1) Yuvraj Singh (2) Anil Kumble

(3) Sachin Tendulkar (4) Kapil Dev

PG-EE-2022 (English) Code-A
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uestion )
g No. Questions

1. | Language allows us to talk about the things and events not present in the
immediate environment. Which of the following terms describes this

property of language?
(1) Arbitrariness
(3) Productivity

(2) Displacement
(4) Discreteness

2. | Who among the following coined the term 'aesthetics™?
1) Arthur Danto (2) Alexander Baumgarten

(3) Immanuel Kant (4) David Hume

Which of the following descriptions is of the unit of verse, Dactyl?
(1) One stressed syllable followed by three unstressed syllables
(2) One stressed syllable followed by two unstressed syllables
(3) Two stressed syllables followed by one unstressed syllable.
(4) Two stressed syllables followed by two unstréssed syllables.

Using the expression "Crown" for the monarchy is an example of:
(2) Synecdoche

(1) Metonymy
(4) Metaphor

(3) Irony

5. | "Heroic Couplet" consists of:

(1) two lines of rhyming verse
(2) two rhyming lines expressing complete thought
(3) tworhyming lines in iambic penta-metre expressing complete thought

(4) two rhyming lines in iambic hexa-metre not expressing complete

thought

6. | Who won the Nobel prize in Literature in 20217
(1) Abdulrazak Gurnah (2) Louise Gluck
(3) Olga Tokarczuk (4) Ellen Mattson

PG-EE-2022 (English) Code-B
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Pulitzer prize is not given in the following:-
_ @) Poetry
(4) Music

(1) History
(3) Geography

. . \V
Which book won the Booker Prize in Literature in the year 20227
(2) The Books of J acob
(4) Tomb of Sand

(1) Cursed Bunny
(3) Heaven

Who won Pulitzer Prize for both Poetry and Fiction?
(1) Robert Penn Warren (2) Robert Frost
(3) Edward Albee (4) Samuel Barber

10.

Who won Sahitya Akademi Award 2021 in English novel?
(2) Kiran Desai
(4) Sanjiv Varavara

(1) Sanjiv Verenkar
(3) Namita Gokhale

Read the following passage, and answer the questions:- .

Skinner's system, reinforcement is automatic, almost by definition. Perhaps
the most convincing demonstration of the automatic effect of a reinforcer
iswhat Skinner (1948) has called "superstitious behaviour", In this situation,
an event known to be reinforcing is presented intermittently without respect
to what the subject is doing. But if it is doing anything (and this can be
made likely through deprivation, etc.), the response just prior to the delivery
of the reinforcer is strengthened, as evidenced by an increase in its rate of
emission. The subject comes to "act as if" the response that has been
fortuitously strengthened somehow produces the reinforcement. This occurs
even though the reinforcer is actually delivered by a mechanical device
that is in no way responsive to the subject's behaviour. The automatic

PGEE-2025 (English) Code-B

effect of reinforcement is also illustrated in Skinner's effective techniques
of shaping behaviour. These procedures could hardly have sprung from a
boint of view that regarded all behaviour as elicited. But with the organism

Ruestio
No.

11

12,

Questions

viewed as "emitting" the varied responses already in hig repertoire, it w
an easy step to conceive of shaping. If the observer simply oobs.ommm ﬁww
quick presentation of a reinforcer, then he could strengthen any behaviour
the organism happened to emit. Responses not in the subject's reperto;
could then be built into it by appropriate arrangements of mscwwomesm..oy
conditions and the successive approximation technique. *
The procedure of shaping a subject's behaviour is related to his

(@) Susceptibility

(b) Desire for reinforcement

(¢) Responses already in his repertoire

(d) Responses reinforced by approximation techniques
Choose the correct answer from-the o
(1) (a) and (b) only
(3) (c) and (d) only

ption given below:-
(2) (b) and (c) only
(4) (a) and (d) only

13.

According to Skinner, the su

perstitious behaviour of individua] 18 the
outcome of

(1) Constant exposure to an event

(2) Exposure to an event without regularity
(3) Occasional exposure to an event

(4) Natural exposure to an event

14,

The delivery of the reinforcer gets strengthened due to
(1) The subject's involvement in the event

(2) Increase in the rate of reinforcement

(8) Factors such as deprivation

(4) The use of a mechanical device

@

Mroo responses that are not in the emission list of & subject, can be observed
y?

(1) Coercive measures

(2) Creating suitable environmental conditions
(3) Inhibiting his natural emission behaviour

(4) Using mechanical devices for reinforcement

PG-EE-2022 (English) Code-B
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Questions Ruestior
No.

Questions

: ical device reinforcing the subject's behaviour ' . ‘ ‘ .
The example of a mechmical e 21. | Whois the first woman to win Sahitya Akademi Award?

demonstrates ) (1) Amrita Pritam (2) Arundhatii Roy
(1) The automatic effect of reinforcement

. . (3) Anita Desai (4) Bratya Basu
(2) The illusion of reinforcement
(3) The discrepancy in subject's behaviour 22. | Who became the first black women to appear on US coin?
(4) The belief that every reaction is an act of reinforcement (1) Maya Angelou (2) Toni Morrison
Train A leaves Mumbai for Pune at 5:30 a.m. and reaches Pune at (3) Wangari Maathai (4) Alice Walker
9:30 a.m. Train B leaves Pune for Mumbai at 7:30 a.m. and reaches Mumbai 23. | 'Eublepharis pictus' which was seen in the news in June 2022, be]ongsa
at 13:30 hrs. At what time will these two trains meet? which sgiedies?
(1) 7:42am. (2) 8:42a.m. (1) Turtle (2) Spider
(3) 912am. (4) 8:48a.m. (3) Gecko (4) Snakes
17. | Find the compound interest on Rs. 8000 at 15% per annum for 2 years 4
months, compunded annually. 24, | Who am:ng the following has been appointed as Vice-chief of Army Staff
(1) 2109 @ 3109 recently? _ ’
@) 4109 @) 6109 (1) VR Chaudhari (2) BSRaju
(3) Manoj Kumar Mago (4) PKPanwar
18. | A person incurs 10% loss by selling a watch for Rs. 1,800. At what price :
should the watch be sold to earn 10% profit? 25. | PM Narendra Modi inaugurated Semicon India Conference 2022 at:
(1) Rs.1,980 (2) Rs.2,160 (1) New Delhi (2) Vadodara
(3) Rs.2,220 (4) Rs.2,360 (3) Bengaluru (4) Surat
19. | The average age of a class of 59 students is 18 years. If the age of the | 26. | Which state cabinet approved 'Gene Bank' a first of its kind project in
teacher is included, then the average increases by 3 months. The age of| ‘ India for Biodiversity conservation?
the teacher is (1) Gujarat (2) Uttar Pradesh
(1) 28years (2) 30years (3) Himachal Pradesh (4) Maharashtra
(3) 33years 4) 35 -
@ years 27. | Name the scientist from NASA who received World Food Prize 2022 for
IfDRIVER = 12, GOVERNMENT = 20, BELIEVED = 16, then BAT =7 her/his research in climate change & food production?
0 6 2 8 (1) Rattan Lal (2) Cynthia Rosenzweig
® 10 @ 12 (3) David Nabarro (4) Howarth Bouis-
PGERE. ;
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Who has won the formula 1 Grand Prix De Monaco 20227
(1) Sergio Perez (2) Carlos SainzJr
(3) Max Emilian Verstappen (4) C Leclere

Who is the new Lieutenant Governor of Delhi?
(1) Vinay Kumar Saxena (2) Sanjeev Dixit
(3) Manish Takkar (4) Vinod Ram Sharma

What is the theme of World "No Tobacco Day" 2022 that was observed
across the Globe by WHO?

(1) Quit Tobacco to be a Winner

(2) Make everyday World No Tobacco Day

(3) Tobacco breaks heart

/
(4) Tobacco : Threat to our Environment
31. | Fate smiles those who untiringly grapple with stark realities of
life. .
(1) With (2) Over
(3) On (4) Round

For questions no. 32 and 33, Please read and find Error detection:-
32. | Little water that was left/in the bottle was not enough/to quench the thirst
of two persons/.
(1) little water that was left
(2) in the bottle was not enough
(3) to quench the thirst of two persons
(4) no error

33. | This project which is funded/by the United Nations/ has helped over four/
lakh Indians overcome poverty.

(1) This project which is funded

(2) by the United Nations

(3) has helped over four

(4) lakh Indians overcome poverty

PG-EE-2022 (English) Code-B
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Juestion

_No.

34,

Questions

Pick out the most effective word from the given words to fill jn the

blank to make the sentence meaningfully complete:
he is disabled, he is an excellent singer.

(1) Despite (2) Though

(3) Even (4) Unfortunately

35.

He is willing to make a concession
1) To (2) On
3) For (4) At

36.

Find the synonym of the word Outlandish:-
(1) Unsavoury (2) Unique
3) Wondrous (4) Strange

the demands of his employees.

317.

Find the antonym of the word Obdurate:-
(1) Daring (2) Nocturnal
(3) Yielding (4) Simpleton

38.

Change into indirect speech;

Raisa: "Could you bring my book tonight?"

(1) She had asked me to bring her book that night.
(2) She asked me to bring her book tonight.

(3) She asked me to bring her book that night.

(4) ‘She did ask me could I bring her book that night.

39.

I reiterated, "I Don't care about the job."
(1) Ireiterated that I did not care about the job.
(2) TIrepeatedly said that I cared about the job.

(3) Isaid, again and again, that I did not care about the job.

(4) Ireiterated I did not care about the job.

]
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‘ Out of the four alternatives choose the one which can be substituted 45. | Which city is to be declared as the "First Cultural and Tourism Capital of
for the glven. words/phrase . . the Shanghai Cooperation Organization (SCO)"?
40. | He was down in the mouth as he was defeated in the elections. (1) Tokyo (2) Varanasi
(1) Unable to speak (2) Very depressed 5w 4) Veni
enice
(3) Very angry (4) Very confused (3) Rome
41. | Which company recently surpassed Apple Inc. to become world's most 46. | Which is the state bird'of Utt'ar Pradesh, that has been adopted as new
valuable company? logo of NOIDA international airport?
(1) Tesla Inc. (2) Amazon (1) Sparrow (2) Lesser Falcon
(3) Saudi Aamco (4) Alphabet Inc (3) SarusCrane (4) Peacock
-
FZ. Which of the following has been crowned 2021/22 premier League champions 47. | Which organization has launched its global 'Be Internet Awesome’
recently? programme for children in India?
(1) Real Madrid (2) Cheslea (1) Facebook (2) Apple
(3) Manchester City (4) Paris Saint Garman (3) Microsoft (4) Google
43. ;’VhiCh ;}ndia;l persona}itvaas recently honoured by the Geneva based 48. | Which city is the host of the International Film Festival of India (AFFI)
’[art;n hnna\S s Fo;ndatlon. 20217
1
E2) Vat er t;: wamy (1) Varanasi (2) Goa
) Varavara Rao 8) Cochin (4) Puducherry
(3) Sudha Bhardwaj :
4) Anand Telt 49. | Which Indian cricketer has been invited as the guest of honour at the
@) umbde
w5 — Indian Film Festival in Melbourne in 2022?
3 t i 1 :
. h?:l;adty:’ng ahotsav 2022 is being held from July 16 to August 14 in (1) Yuvraj Singh (2) Anil Kumble
(1) Maharashtra (3) Sachin Tendulkar (4) Kapil Dev
(2) Chennai 50. | In the recently released World Economic Forum's (WEF) Global Gender
(3) New Delhi Gap Index, What is the rank of India held?
(4) Banaras (1) 135% (2) 137*
3) 112% (4) 128*
PG-EE-2 i
022 (English) Code-B ( PG-EE-2022 (English) Code-B
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Juestior Questions ”u;ﬁ:"m Questions
No. s a1 1 ]
- 6 years. In how many - v
51. | A sum of money doubles at compound interest 6y 57. | How many digits are needed to write the numbers from 1 to 1007
L . . ”
vears will it become 16 times ? 1 100 @) 198
(1) 16 years (2) 24 years @) 9 1) 192

(3) 48years (4) 96 years

58. | Aboat can travel with a speed of 13 km/hr in still water. If the speed of the

52. | In covering a distance of 30 km, Abhay takes 2 hours more than Sameer. If stream is 4 km/hr, find the time taken by the boat to 20 68 km downstream

Abhay doubles his speed. then he would take 1 hour less than Sameer.| - (1) 2hours (2 3 hours

Abha:\-‘s speed is: (3) 4 hours (4) 5 hours

(1) 5kmph (2) 6kmph 59. | Inagroup of 26 persons, 15 like tea and 18 lim:

(3) 6.25kmph (4) 7.5kmph dislikes both. The number of persons who like both tea and coffee is?
F53. There is 60% increase in an amount in 6 years at simple interest. What will @ 9 @ 7

be the compound interest of Rs. 12,000 after 3 years at the same rate ? @) 5 4) 3

(1) Rs.2160 (2) Rs.3120 60. | The simple interest on a certain sum of money for 3 years at 40 per annum

(3) Rs.3972 (4) Rs. 6240 is half the compound interest on Rs. 2,000 for 2 years at 10% per annum.

54. | Inan examination 80% candidates passed in English and 85% candidates '(I;}))e Zl;lgollr;\;.ested on simple mtfgsiz‘o .

passed in mathematics. If 73% candidates passed in both these subjects @) 2500Rs. @ 3500 Rs

then what percent of candidates failed in both the subjects?

(1) 8% (2) 15% 61. | Identify the clause of the underlined part:

@) 27% 4) 35% He came in while I was out.

(1) Principal clause (2) Noun clause

55. | To complete a work, A takes 50% more time than B, If together they take

(3) Adjective/relative clause (4) Adverb clause
18 days to complete the work, how much time shall B take to do it?

1) 30days @ 35days 62. | Identify the option in which the word 'right’ is used as noun.
(3) 40days (4) 45days (1) Thisis afault that will right itself
56. | Which of the following fractions is the smallest? . (@) He s the right man for the position.
(1) 61/256 @ 121512 « @) Taskitasaright
3) 9/32 (4) 317128 (4) He stood right in my eyes.
PG-EE-2022 (English) Code-B PG-EE-2022 (English) Code-B
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sti .
, Questions 2“;2"0’ Questions
L)uﬁ»““"! /0l . L .
e ; 1d newspapers were thrown away by me. (Change the oice) 70. | Did he criticize my arrangements?
a old news, =
63. | The hrow the old newspapers away. (1) need (2) ‘ought
[ (1) Ithr (3) dare (4) must

apers are thrown away-
e d Read the following passage and answer questions: —\
There is a common thread running through the unravelling of India's

2 The old newsp
3 [ am throwing

(4) Ithrewaway the old newspapers.

milar in meaning? statistical system. A modern economy with sound institutions is

Which pair of words are si . : onor ‘
(2) Guest-Host characterized by the timely dissemination of credible data. A long-term

64.
(1) Lunatic-mad

(3) Knowledge-ignorance (4) Aversion-liking policy needs an empirical basis and issues of the veracity of data will

influence investment decisions. In a country with a large population of

|
J
ify ‘nonym of the word 'vigilance'? . . .
65. | Identify the synonym o g1 youth, data on national development, especially in core sectors like

|
f (@) Com‘pti_o" (2) Weird agriculture, industry, health, education and employment, will be critical.
(3) Vindicative (4) Watchfulness . . .
Here comes the role of the National Statistical Commission, a body created
T "To make both ends meet" means:- to establish standards. Questioning the data veracity is a global
(1) Tie a rope at both points firmly phenomenon. The official narrative is always questioned by the people on
(2) Bring two opposite things together the other side of the fence. Dissemination of economic data is essential to
(3 To meet one's day-to-day needs. reach out to the public who lived their reality. Lack of data will adversely
(4) To bring two contradictory ideas together impact the quality of national policies. India must start strengthening
67. | My friend me yesterday. institutions such as the central statistical commission. These institutions
1) callup " (@ called off must be granted autonomy and insulated from external interferences.
(3) calledin (4) called on Enhanced operational autonomy will make their work credible. An indicator
68. | The referce was booked his decision regarding a penalty he had of operational autonomy is their ability to stick to a dissemination calendar
awarded the team. regardless of what the data indicates.
@ in @ by 71. | What is important for a modern economy?
@3) for @) at (1) A common thread
69. | Abanyan tree to be here when we were children. (2) Dissemination of credible data
1) must @ may (3) Unravelling of statistical system
(3) should (4) used - (4) Selective Distribution of Data.
PG-EE-2022 (English) Code-B PG-EE-2022 (English) Code-B
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i )—:; What is the work of National Statistical Commission?
:‘ ” ol Establishing Standards
f / 2 Questioning Data Veracity
| | 3 Questioning Official Narrative
‘} (4) Supporting the Public Perception
‘ 73, | What does the passage ultimately suggest to National Statistical

| /
|

SET-x
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Commission?

(1) Restricting policy decisions

(2) Critically examining data veracity

(3) Stick to a calendar of data dissemination.
(4) Support development in core sectors

Investment decisions are impacted by:
(2) National Development

(1) Youth Population
(4) Establishment of National Institutes

(3) Issues of Data Veracity

How can the quality of national policies be improved?
(1) By living reality

(2) By supporting external interferences

(3) By controlling autonomous institutions

(4) By enhanced operational freedom

PG-EE-2022 (English) Code-B

Read the following passage and answer the questions:-

Perhaps what bothered the media in the 1970s was the shift in liberty
being suggested. For centuries, journalists had operated on the basis of|
negative liberty, or freedom from external restraints. Suddenly, however.
the thrust was positive freedom, a freedom for the pursuit of some;
predetermined goals. This new social responsibility seems grounded on a
school of thought that sees negative liberty as insufficient and ineffective,
somewhat like telling people they are free to walk without first making,

(14)
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sure they are not crippled. Who better than the government is able to
provide humanity with appropriate means? A government, even a
democratic government, is seen by social responsibility adherents as the
only force strong enough to guarantee the effective operation of freedom.
This does not mollify observers who find social responsibility to be only a
slightly disguised version of authoritarianism. Media philosopher John
Merrill has been one of the most outspoken critics of the theory. To him,
the proposition that pluralism of ideas should be governmentally mandated
is ludicrous. Journalists, he says, must retain their freedom to make their
own news and editorial judgements. Even well-intentioned attempts by
outside groups seeking media improvement are self-serving, and inevitably
lessen the autonomy of journalists, Merrill maintains. This leads us to the
issue of media autonomy
76. | What was the basis of the operation of journalists earlier?
(1) Freedom of limited choices
(2) Social responsibility
(3) Free from outside pressure
(4) Government control
77. | According to John Merrill, seeking improvement in media, is:
(1) Appropriate (2) Well-intentioned
(3) Inevitable (4) Self-serving
78. | The passage critically analyses:
(1) Operation of journalists
(2) Mandate for government
(3) Social responsibility theory of media
(4) Regimented autonomy of journalists
79. | Some scholars consider social responsibility aspect of media as;
(1) Negative freedom (2) Pluralism
(38) Democratization of media (4) Authoritarianism

PG-EE-2022 (English) Code-B
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Positive freedom means:

Gr hought
1) Grounded t -
((3) Freedom with conditions @ P

(2) Pursuing certain set goals
roviding identified means

can be substituted

Out of the four alternatives choose the one which

iv % /phrase
for the given words se o |
You can easily overcome this situation if you keep your head

(2) Believein

{eep faith in /
(1) Feep sl (4) Remain calm

(3) Trust others
Change the voice of the given sentences (Sentences 82-83)
We were paid a visit by Mr. Banerjee.

(1) Mr. Banerjee had visited us.

(2) Mr. Banerjee visited us.

(3) Mr. Banerjee had paid us a visit.

(4) Mr. Banerjee paid us a visit.

83. | Little strokes fell great oaks.
(1) Great oaks fell with little strokes
(2) Great oaks were felled by little strokes
(3) Great oaks can be felled with little strokes.
(4) Great oaks are felled by little strokes.

Which parts of speech do the underlined words show?
84. | She brought me round to her views?

(1) Verb (2) Adverb

(3) Noun (4) Preposition

85. | Choose the correct option:-

Transformation of the sentence: Simple to Compound
He must work hard to make up for the lost time.

(1) He must work hard, cover the lost time.

(2) Making up for the lost time he must work hard.
(3) He must work hard and make up for the lost time.
(4) Working hard will make up for the lost time.

———
PG-EE-2022 (English) Code-B
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Ruestion|
No.

86.

@

Questions

Fill in the blanks with the correct option:-
, they slept soundly.

(1) Hot though was the night air

(2) Hot though the night air was

(3) Hot was the night air that

(4) Hot although the night air was

87.

Identify the clause of the underlined part:

Stand still, if you value your life.

(1) Principal clause (2) Noun clause
(3) Adjective/relative clause (4) Adverb clause

88.

He
blank)

(1) hasbeen looking
(3) waslooking

nervous until I told him to sit down and relax. (Fill in the

' (2) looked
(4) may look

89,

You have hurried but you did. (Fill in the blank)
(1) couldn't
(3) needn't

(2) mayn't
(4) ought to

90.

Ram has revised all day. He be ready for his examination. (Fill in
the blanks)
(1) Should

(3) May

(2) Can
(4) Would

91,

'The man is no fool'. Which literary device is used in the statement?

(1) Euphemism
(3) Litotes

(2) Periphrasis
(4) Epigram

PG-EE-2022 (English) Code-B
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' am m) ample w f

of speech?

) Hyberbole
(3) Apostrophe :
What are the figures of speech used in the following lines by Blake?

(2) Tautology
(4) Anaphora

"Tyger, tiger, burning Bright

In the forest of the night

What immortal hand or eye

Could frame thy fearful symmetry?"
(1) Simile and personification

(2) Irony and synecdoche

(3) Apostrophe and synecdoche

(4) Metonymy and apostrophe

Hamlet, lying wounded, says to his friend, "Horatio, I am dead." This is an

94,
example of?
(1) Protasis (2) Anacrusis
L (3) Prolepsis (4) Pun
95. | "You have seen how a man was made a slave; you shall see how a slave was
made a man" is an example of?
(1) Bathos (2) Epistrophe
(3) Chiasmus (4) Anti-Climax
96. | Apause marking a rhythmic point of division in a line of poetry is called a/
an?
(1) Lamb (2) Foot
() Caesura (4) Kenning
PG-EE-2022 (English) Code-B
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A dactylic (the noun is dactyl) consists of?

(1) A stregsed syllable followed by an unstressed syllable.

(2) An unstressed syllable followed by a stressed syllable.

(3) A stresged syllable followed by two unstressed syllables.

() Two stressed syllables followed by two unstressed syllables.

"The ploughman homeward plods his weary way" is an example of?
(1) Oxymoron (2) Litotes
(8) Antithesis (4) Hypallage

'Aposiopesis' is a rhetorical device in which (complete the sentence with

correct option)

(1) A speechis completed but half-heartedly.

(2) A speech is completed on a sad note and often reflects a pessimistic
ending.

(3) A speech is concluded on a happy note.

(4) A speech is broken off abruptly and the sentence is left unfinished

100.

"he gave the beggers.a few coppers" is an example of?
(1) Synecdoche (2) Metonymy
(3) Simile (4) Metaphor
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Read the following passage and answer questions:

There is a common thread running through the unravelling of India’s
statistical system. A modern economy with sound institutions 1s
characterized by the timely dissemination of credible data. A long-term
policy needs an empirical basis and issues of the veracity of data will
influence investment decisions. In a country with a large population of
youth, data on national development, especially in core sectors like
agriculture, industry, health, education and employment, will be critical.
Here comes the role of the National Statistical Commission, a body created
to establish standards. Questioning the data veracity is a global
phenomenon. The official narrative is always questioned by the people on
the other side of the fence. Dissemination of economic data is essential to
reach out to the public who lived their reality. Lack of data will adversely
impact the quality of national policies. India must start strengthening
institutions such as the central statistical commission. These institutions
must be granted autonomy and insulated from external interferences.
Enhanced operational autonomy will make their work credible. An indicator
of operational autonomy is their ability to stick to a dissemination calendar
regardless of what the data indicates.

What is important for a modern economy?
(1) A common thread

(2) Dissemination of credible data -

(3) Unravelling of statistical system

(4) Selective Distribution of Data.

What is the work of National Statistical Commission?
(1) Establishing Standards

(2) Questioning Data Veracity

(3) Questioning Official Narrative

(4) Supporting the Public Perception

PG-EE-2022 (English) Code-C
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What does the passage ultimately suggest to National Statistical
Commission:

(1) Restricting policy decisions

@ Critically examining data veracity

(3) Stick toa calendar of data dissemination.
(4) Support development in core sectors

Investment decisions are impacted by:
(1) Youth Population (2) National Development

(3) lssuesof Data Veracity ~ (4) Establishment of National Institutes

How can the quality of national policies be improved?
(1) Byliving reality
(2) By supporting external interferences

(3) By controlling autonomous institutions
(4) By enhanced operational freedom

Read the following passage and answer the questions:-

Perhaps what bothered the media in the 1970s was the shift in liberty
being suggested. For centuries, journalists had operated on the basis of
negative liberty, or freedom from external restraints. Suddenly, however,
the thrust was positive freedom, a freedom for the pursuit of some
predetermined goals. This new social responsibility seems grounded on a
school of thought that sees negative liberty as insufficient and ineffective,
somewhat like telling people they are free to walk without first making
sure they are not crippled. Who better than the government is able to
provide humanity with appropriate means? A government, even a
democratic government, is seen by social responsibility adherents as the
only force strong enough to guarantee the effective operation of freedom.
Thxs does not mollify observers who find social responsibility to be only a
Shght.ly disguised version of authoritarianism. Media philosopher John
Merrill has been one of the most outspoken critics of the theory. To him,
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the proposition that pluralism of ideas should be governmentally mandateq
is ludicrous. Journalists, he says, must retain their freedom to make their
own news and editorial judgements. Even well-intentioned attempts by
outside groups seeking media improvement are self-serving, and inevitably
lessen the autonomy of journalists, Merrill maintains. This leads us to the
issue of media autonomy

What was the basis of the operation of journalists earlier?
(1) Freedom of limited choices

(2) Social responsibility

(3) Free from outside pressure

(4) Government control

According to John Merrill, seeking improvement in media, is:
(2) Well-intentioned
(4) Self-serving

(1) Appropriate
(3) Inevitable

The passage critically analyses:

(1) Operation of journalists

(2) Mandate for government

(8) Social responsibility theory of media
(4) Regimented autonomy of journalists

Some scholars consider social responsibility aspect of media as;
(2) Pluralism
(3) Democratization of media (4) Authoritarianism

(1) Negative freedom

10.

Positive freedom means:

(1) Grounded thought

(2) Pursuing certain set goals
(8) Freedom with conditions
(4) Providingidentified means

PG-EE-2022 (English) Code-C
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| Out of the four alternatives choose the one which can be substituted
f for the given words/phrase
1 You can easily overcome this situation if you keep your head.
. Hyor
[ (1) Keep faith in (2) Believein

| Trust others (4) Remain calm

f‘ Change the voice of the given sentences (Sentences 12-13)

2. | We were paid a visit by Mr. Banerjee.

[ (1) Mr. Banerjee had visited us.

“ (20 Mr. Banerjee visited us.

| (3) Mr. Banerjee had paid us a visit.
|

| (4) Mr. Banerjee paid us a visit.
|

13.

<

I Little strokes fell great oaks.

| (1) Great oaks fell with little strokes

i (2) Great oaks were felled by little strokes

‘ (3) Great oaks can be felled with little strokes.
] (4) Great oaks are felled by little strokes.

f Which parts of speech do the underlined words show?

.| She brought me round to her views?

(2) Adverb
(4) Preposition

(1) Verb
(3) Noun

15.

Choose the correct option:-

Transformation of the sentence: Simple to Compound
He must work hard to make up for the lost time.

(1) He must work hard, cover the lost time.

(2) Making up for the lost time he must work hard.

() He must work hard and make up for the lost time.
(4) Working hard will make up for the lost time.

PG-EE-2022 (English) Code-C
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16. | Fillin the blanks with the correct option:-
___. they slept soundly.
(1) Hot though was the night air
| (2) Hot though the night air was
( (3) Hot was the night air that
(4) Hot although the night air was
17. | Identify the clause of the underlined part:
Stand still, if you value your life.
(1) Principal clause (2) Noun clause
(3) Adjective/relative clause (4) Adverb clause
18. | He nervous until [ told him to sit down and relax. (Fill in the
blank)
(1) hasbeen looking (2) looked
(3) waslooking (4) may look
'19. | You _____ have hurried but you did. (Fill in the blank)
(1) couldn't (2) mayn't
(3) needn't (4) ought to
20. | Ram has revised all day. He be ready for his examination. (Fill in
the blanks)
(1) Should (2) Can
(3) May (4) Would
21. | 'The man is no fool'. Which literary device is used in the statement?
(1) Euphemism
(2) Periphrasis
(3) Litotes
(4) Epigram

PG-EE-2022 (English) Code-C
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. a bas
Which Indian personality was recently honoured by the Genev ed

Martin Ennals Foundation?
(1) Father Stan Swamy
(3) Sudha Bhardwaj

(2) Varavara Rao
(4) Anand Teltumbde

Bharat Rang Mahotsav 2022 is being held from July 16 to August 14‘in
which city?

(1) Maharashtra

(2) Chennai

(3) New Delhi

(4) Banaras

Which city is to be declared as the "First Cultural and Tourism Capital of
the Shanghai Cooperation Organization (SCO)"?

(1) Tokyo (2) Varanasi
(3) Rome (4) Venice

36. | Which is the state bird of Uttar Pradesh, that has been adopted as new
logo of NOIDA international airport?

(1) Sparrow (2) Lesser Falcon
(3) SarusCrane (4) Peacock

37. | Which organization has launched its global 'Be Internet Awesome'
programme for children in India?

(1) Facebook (2) Apple
(3) Microsoft (4) Google
38. :g};lc')h city is the host of the International Film Festival of India (IFFI)
(1) Varanasi (2) Goa
() Cochin (4) Puducherry
PGEE |

E-2022 (English) Code-C
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39. | Which Indian cricketer has been invited as the guest of honour at the
Indian Film Festival in Melbourne in 20227

(1) Yuvraj Singh (2) Anil Kumble
(3) Sachin Tendulkar (4) Kapil Dev

40. | In the recently released World Economic Forum's (WEF) Global Gender
Gap Index, What is the rank of India held?

(1) 135 (2) 137
3) 112% (@) 128"

41. | A sum of money doubles at compound interest in 6 years. In how many
years will it become 16 times ?

(1) 16years (2) 24years
(3) 48years (4) 96 years

42. | Incovering a distance of 30 km, Abhay takes 2 hours more than Sameer. If
Abhay doubles his speed, then he would take 1 hour less than Sameer.
Abhay's speed is:

(1) 5kmph (2) 6kmph

(3) 6.25 kmph (4) 7.5kmph

43. | Thereis 60% increase in an amount in 6 years at simple interest. What will
be the compound interest of Rs. 12,000 after 3 years at the same rate ?

(1) Rs.2160 (2) Rs.3120
(3) Rs.3972 (4) Rs.6240

44. | In an examination 80% candidates passed in English and 85% candidates
passed in mathematics. If 73% candidates passed in both these subjects
then what percent of candidates failed in both the subjects?

Q) 8% () 15%
@) 21% @) 35% J
PG-EE-2022 (English) Code-C
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[ 45. | Tocompletea work. A takes 50% more time than B. If
: 18 davs to complete the work. how much time shall Bt

(2) 35days
(4) 45days

together they take
ake to doit?

\‘ (1) 30days
(3) 40days

—

46. | Which of the following fractions is the smallest?
(1) 61/256 (2) 121/612

* 3) 9132 () 31128
h? How many digits are needed to write the numbers from 1 to 100?
(1) 100 (2) 198
@) 9 @) 192
48. | Aboat can travel with a speed of 13 km/hr in still water. If the speed of the
stream is 4 km/hr, find the time taken by the boat to go 68 km downstream.
(1) 2hours (2) 3hours
(3) 4 hours (4) 5hours ‘
49. | Ina group of 26 persons, 15 like tea and 18 like coffee. There is no one who
dislikes both. The number of persons who like both tea and coffee is?
1 9 @2 7
@) 5 4) 3

50. | The simple interest on a certain sum of money for 3 years at 40 per annum

is half the compound interest on Rs. 2,000 for 2 years at 10% per annum.
The sum invested on simple interest is:

(1) 8750Rs. (2) 1750 Rs.
(3) 2500 Rs. (4) 3500Rs.

51. | Identify the clause of the underlined part:
He came in while I was out.

(1) Principal clause (2) Noun clause

(3) Adjective/relative clause (4) Adverb clause

PG-EE-2022 (English) Code-C
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62,

Identify the option in which the word 'right’ is used as noun.

(1) Thisis a fault that will right itself
(2) He is the right man for the position.
(3) laskitasaright

(4) He stood right in my eyes.

53.

The old newspapers were thrown away by me. (Change the voice)
(1) Ithrow the old newspapers away.

(2) The old newspapers are thrown away.

(3) Iam throwing away the old newspapers.

(4) 1threw away the old newspapers.

54.

Which pair of words are similar in meaning?
(1) Lunatic-mad (2) Guest-Host
(3) Knowledge-ignorance (4) Aversion-liking

55.

Identify the synonym of the word 'vigilance'?
(1) Corruption (2) Weird
(3) Vindicative (4) Watchfulness

56.

"To make both ends meet" means:-

(1) Tie a rope at both points firmly

(2) Bring two opposite things together

(3) To meet one's day-to-day needs.

(4) To bring two contradictory ideas together

57.

My friend
(1) callup
(3) calledin

me yesterday.
(2) called off
(4) called on

PG-EE-2022 (English) Code-C
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g his decision regarding a
5 The referce was booke \is decis
[ 8.
[ ’ awarded the team.
(1) m @ by
\i (3) for ) a

| A banyan tree to be here when we were children.
59 A ban)

i (1) must (2) may
(3) should (4) used

60. | Did he criticize my arrangements?
(2) ought
(4) must

(1) need
(3) dare

i

penalty he had

61. | Language allows us to talk about the things and events not present in the

property of language?
(1) Arbitrariness
(3) Productivity

(2) Displacement

(4) Discreteness

immediate environment. Which of the following terms describes this

62. | Who among the following coined the term 'aesthetics'?
1) Arthur Danto
(3) Immanuel Kant

(2) Alexander Baumgarten
(4) David Hume

63. | Which of the following descriptions is of the unit of verse, Dactyl?
(1) One stressed syllable followed by three unstressed syllables
(2) One stressed syllable followed by two unstressed syllables
(3) Two stressed syllables followed by one unstressed syllable.
(4) Two stressed syllables followed by two unstressed syllables.

64. | Using the expression "Crown" for the monarchy is an example of:
(1) Metonymy (2) Synecdoche
3) Irony (4) Metaphor

PG-EE-2022 (English) Code-C
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65. | "Heroic Couplet” consists of:
(1) two lines of rhyming verse
(2) tworhyming lines expressing complete thought
(3) tworhyming lines in iambic penta-metre expressing complete thought
(4) two rhyming lines in iambic hexa-metre not expressing complete
thought
66. | Who won the Nobel prize in Literature in 20217
(1) Abdulrazak Gurnah (2) Louise Gluck
(3) Olga Tokarczuk (4) Ellen Mattson
67. | Pulitzer prize is not given in the following:-
(1) History (2) Poetry
(3) Geography (4) Music
68. | Which book won the Booker Prize in Literature in the year 2022?
(1) Cursed Bunny (2) The Books of Jacob
(3) Heaven (4) Tomb of Sand
69. | Who won Pulitzer Prize for both Poetry and Fiction?
(1) Robert Penn Warren (2) Robert Frost
(8) Edward Albee (4) Samuel Barber
70. | Who won Sahitya Akademi Award 2021 in English novel?
(1) Sanjiv Verenkar (2) Kiran Desai
(3) Namita Gokhale (4) Sanjiv Varavara
71. | Whois the first woman to win Sahitya Akademi Award?
(1) Amrita Pritam (2) Arundhatii Roy
(3) Anita Desai (4) Bratya Basu J

PG-EE-2022 (English) Code-C
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ame the first black women to appear on
(2) Toni Morrison
(d) Alice Walker

}!//V US coin?
Who bec
| (1) Maya Angelou
J 3) Wangari Maathai

Eublepharis pictus’ which was seen in the news in June 2022, belongs to
'Bu S S

which speCiGS?
(1) Turtle
(3) Gecko

(2) Spider
(4) Snakes

Who among the following has been appointed as Vice-chief of Army Staff

recently?
(1) VR Chaudhari
(3) Manoj Kumar Mago

(2) BSRaju
(4) PKPanwar

PM Narendra Modi inaugurated Semicon India Conference 2022 at:
(1) New Delhi (2) Vadodara
(3) Bengaluru (4) Surat

Which state cabinet approved 'Gene Bank' a first of its kind project in
India for Biodiversity conservation?
(1) Gujarat (2) Uttar Pradesh

(3) Himachal Pradesh (4) Maharashtra

1.

Name the scientist from NASA who received World Food Prize 2022 for
her/his research in climate change & food production?

(1) Rattan Lal (2) Cynthia Rosenzweig
(3) David Nabarro (4) Howarth Bouis

8.

Who has won the formula 1 Grand Prix De Monaco 2022?
(1) Sergio Perez (2) Carlos Sainz Jr
(3) Max Emilian Verstappen (4) C Leclerc

PG-EE-2022 (English) Code-C
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79.

Who is the new Lieutenant Governor of Delhj?
(1) Vinay Kumar Saxena
(3) Manish Takkar

(2) Sanjeev Dixit
(4) Vinod Ram Sharma

80.

What is the theme of World "No Tobacco Day" 2022 that was observed
across the Globe by WHO?

(1) Quit Tobacco to be a Winner

(2) Make everyday World No Tobacco Day
(3) Tobacco breaks heart

(4) Tobacco : Threat to our Environment

81.

Fate smiles those who untiringly grapple with stark realities of

life.
(1) With
3) On

(2) Over
(4) Round

82.

For questions no. 82 and 83, Please read and find Error detection:-

Little water that was left/in the bottle was not enough/to quench the thirst
of two persons/.

(1) little water that was left

(2) in the bottle was not enough
®)
@

to quench the thirst of two persons

no error

83.

This project which is funded/by the United Nations/ has helped over four/
lakh Indians overcome poverty.

(1) This project which is funded
(2) by the United Nations

(3) has helped over four

(4) lakh Indians overcome poverty

PG-EE-2022 (English) Code.C
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. 1. out the most effectiv ' : .
Plld\l?tuo make the sentence meaningfully complete:
blank . ‘

he is disabled, he is an excellent singer.

(2) Though

¢ word from the given words to fill in the

spite
(]; l?e: (4) Unfortunately
@3 Y
He is willing to make a concession the demands of his employees.
1) To 2) On
8) For 4) At

Find the synonym of the word Outlandish:-
(2) Unique
(4) Strange

(1) Unsavoury
(3) Wondrous

Find the antonym of the word Obdurate:-
(2) Nocturnal
(4) Simpleton

(1) Daring
3) Yielding

Change into indirect speech;

Raisa: "Could you bring my book tonight?"

(1) She had asked me to bring her book that night.
(2) She asked me to bring her book tonight.

(3) She asked me to bring her book that night.

(4) She did ask me could I bring her book that night.

89.

I reiterated, "I Don't care about the job."
(1) Ireiterated that I did not care about the job.
(2) Irepeatedly said that I cared about the job.

(3) Isaid, again and again, that I did not care about the job.

(4) Ireiterated I did not care about the job.

SET-X
Code-C
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for the given words/phrase
90. | He was down in the mouth as he
(1) Unable to speak
(3) Veryangry

Out of the four alternatives choose t

he one which can be substituted

was defeated in the elections,

(2) Very depressed
(4) Very confused

Read the following passage, and answer the questions:-

Skinner's system, reinforcement is automatic, almost by definition. Perhaps
the most convincing demonstration of the automatic effect of a reinforcer

91

PGEE-2022 (English) Code-C
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is what Skinner (1948) has called "superstitious behaviour", In this situation,
an event known to be reinforcing is presented intermittently without respect
to what the subject is doing. But if it is doing anything (and this can be
made likely through deprivation, etc.), the response just prior to the delivery
of the reinforcer is strengthened, as evidenced by an increase in its rate of
emission. The subject comes to "act as if" the response that has been
fortuitously strengthened somehow produces the reinforcement. This occurs
even though the reinforcer is actually delivered by a mechanical device
that is in no way responsive to the subject's behaviour. The automatic
effect of reinforcement is also illustrated in Skinner's effective techniques
of shaping behaviour. These procedures could hardly have sprung from a
point of view that regarded all behaviour as elicited. But with the organism
viewed as "emitting" the varied responses already in his repertoire, it was
an easy step to conceive of shaping. If the observer simply controlled the
quick presentation of a reinforcer, then he could strengthen any behaviour
the organism happened to emit. Responses not in the subject's repertoire
could then be built into it by appropriate arrangements of environmental
conditions and the successive approximation technique.

The procedure of shaping a subject's behaviour is related to his
(a) Susceptibility

() Desire for reinforcement

(c) Responses already in his repertoire

(d) Responses reinforced by approximation techniques

PG-EE-2022 (English) Code-C
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o the correct answer from the option given below:-
. (2 (b)and (c) only

4) (a)and (d) only
itious behaviour of individual is the

[ ot

J | 1) (a) and (b) only
3) (c)and (d) only

(3
i S| erst
92. “ According to Skinner. the sup

outcome of
| (1) (Constant exposure to an event
f n event without regularity

SET-X
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(2) Exposuretoa
} 3) Occasional exposure to an event
i (4) Natural exposure to an event -
ivery of the reinforcer gets strengthened due to

{ 93. | The del
(1) The subject's involvement in the event
l (@) Increase in the rate of reinforcement

(3) Factors such as deprivation
(4) The use ofa mechanical device

The responses that are not in the emission list of a subject, can be observed
by?

(1) Coercive measures

(2) Creating suitable environmental conditions
(3) Inhibiting his natural emission behaviour

(4) Using mechanical devices for reinforcement

-

95. | The example of a mechanical device reinforcing the subject's behaviour
demonstrates
(1) The automatic effect of reinforcement

2) The illusion of reinforcement

(
(3) The discrepancy in subject's behaviour
(

4) The belief that every reaction is an act of reinforcement

PG-EE-2022 (English) Code-C
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96. | Train A leaves Mumbai for Pune at 5:30 a.m. and reaches Pune at
9:30 a.m. Train B leaves Pune for Mumbai at 7:30 a.m. and reaches Mumbaj
at 13:30 hrs. At what time will these two trains meet?
(1) 7:42am. " (2) 8:42a.m.
(3) 9:12a.m. (4) 8:48a.m.

97. | Find the compound interest on Rs. 8000 at 15% per annum for 2 years 4
months, compunded annually.
(1) 2109 (2) 3109
(3) 4109 (4) 6109

98. | A person incurs 10% loss by selling a watch for Rs. 1,800. At what price
should the watch be sold to earn 10% profit?
(1) Rs.1,980 (2) Rs. 2,160
(3) Rs.2,220 (4) Rs. 2,360

99. | The average age of a class of 59 students is 18 years. If the age of the
teacher is included, then the average increases by 3 months. The age of
the teacher is
(1) 28years (2) 30years
(3) 33years (4) 35years

100. | If DRIVER =12, GOVERNMENT = 20, BELIEVED = 16, then BAT = ?
1) 6 2) 8
@) 10 @ 12

PG-EE-2022 (English) Code-C
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0.

1. | Fatesmiles___ those who untiringly grapple with stark realities of
life.

(1) With . (2) Over
(3) On (4) Round

For questions no. 2 and 3, Please read and find Error detection:-

Little water that was left/in the bottle was not enough/to quench the thirst
of two persons/.

(1) little water that was left
(2) inthe bottle was not enough

(3) to quench the thirst of two persons
(4) no error

This project which is funded/by the United Nations/ has helped over four/
lakh Indians overcome poverty.

(1) This project which is funded
(2) by the United Nations

(3) has helped over four

(4) lakh Indians overcome poverty

Pick out the most effective word from the given words to fill in the
blank to make the sentence meaningfully complete:

he is disabled, he is an excellent singer.
(1) Despite (2) Though.
(3) Even (4) Unfortunately

He is willing to make a concession

(1) To @ On
(3) For 4) At

the demands of his employees.

Find the synonym of the word Outlandish:-
(1) Unsavoury (2) Unique
(3) Wondrous (4) Strange

PG-EE-2022 (English) Code-D
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7 No. T\\\I\\\ |
T\q\\ Find the antonym of the word Qbdurate:- | 13. | Which Indian personality was recently honoured by the Geneva based
) (1) Daring (2) Nocturnal | . tions
(3) Yielding (4) Simpleton . _, Martin Ennals Foundation?
— 5. | Change into indirect speech; _ (1) Father Stan Swamy
Raisa: "Could you bring my book tonight?" ,. (2) Varavara Rao
(1) She had asked me to bring her book that night. | v .
(2) She asked me to bring her book tonight. | (3) Sudha Bhardwaj
(3) She asked me to bring her book that night. ” Jtumbd
@) She did ask me could I bring her book that night. (4) anand Teliumbde
9. | Ireiterated, "I Don't care about the job." 14. | Bharat Rang Mahotsav 2022 is being held from July 16 to August 14 in
(1) Ireiterated that I did not care about the job. which city?
(2) Irepeatedly said that I cared about the job.
(3) Isaid, again and again, that I did not care about the job. (1) Maharashtra
(4) Ireiterated I did not care about the job. @ Chennai .
Out of the four alternatives choose the one ir.cr can be substituted 3) New Delhi
for the given words/phrase
10. | He was down in the mouth as he was defeated in the elections. . (4) Banaras
(1) Unable to speak (2) Very depressed
(38) Very angry ‘ (4) Very confused 15. | Which city is to be declared as the "First Cultural and Tourism Capital of
: ) the Shanghai Cooperation Organization (SCO)"?
11, | Which company recently surpassed Apple Inc. to become world's most .
valuable company? | (1) Tokyo (2) Varanasi
) Tesla Inc. (2) Amazon ! (3) Rome (4) <mem
(3) Saudi Aamco (4) AlphabetInc ,, 16. | Which is the state bird of Uttar Pradesh, that has been adopted as new
: . | logo of NOIDA international airport?
12. | Which of the following has been crowned 2021/22 premier League champions | ® P
recently? | (1) Sparrow (2) Lesser Falcon
(1) Real Madrid ) Cheslea | (3) Sarus Crane (4) Peacock
PEER 8 Manchester City (4) Paris Saint Garman
-EE-2 :
022 (English) Code-D PG-EE-2022 (English) Code-D
@ ®)
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\Which organization has launched its global 'Be Internet Awesome'
programme for children in India?

1) Facebook (2) Apple

(3) Microsoft (4) Google

SET-X
Code-D
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Questions

22,

Who among the following coined the term 'aesthetics'?
1)  Arthur Danto (2) Alexander Baumgarten
(3) Immanuel Kant (4) David Hume

Which city is the host of the International Film Festival of India (IFFI)
20217

/ (1) Varanasi (2) Goa

! @3) Cochin (@) Puducherry

| 19. | Which Indian cricketer has been invited as the guest of honour at the
Indian Film Festival in Melbourne in 2022?
(1) Yuvraj Singh (2) Anil Kumble
(3) Sachin Tendulkar (4) Kapil Dev

‘ 20. | In the recently released World Economic Forum's (WEF) Global Gender
Gap Index, What is the rank of India held?
(1) 135 (2) 137
(3) 112 (4) 128*

21.

SR ——
PG-EE-2022 (English) Code-D

Language allows us to talk about the things and events not present in the

immediate environment. Which of the following terms describes this
property of language?

(1) Arbitrariness
() Productivity

(2) Displacement
(4) Discreteness

23.

Which of the following descriptions is of the unit of verse, Dactyl?
(1) One stressed syllable followed by three unstressed syllables
(2) One stressed syllable followed by two unstressed syllables
(3) Two stressed syllables followed by one unstressed syllable.
(4) Two stressed syllables followed by two unstressed syllables.

24,

Using the expression "Crown" for the monarchy is an example of:
(1) Metonymy (2) Synecdoche
(3) Irony (4) Metaphor

25.

"Heroic Couplet" consists of:

(1) twolines of rhyming verse

(2) two rhyming lines expressing complete thought

(3) tworhyming lines in iambic penta-metre expressing complete thought

(4) two rhyming lines in iambic hexa-metre not expressing complete
thought

26.

Who won the Nobel prize in Literature in 2021?
(1) Abdulrazak Gurnah (2) Louise Gluck
(38) Olga Tokarczuk (4) Ellen Mattson

217.

Pulitzer prize is not given in the following:-
(1) History (2) Poetry
(8) Geography (4) Music

28.

(O]

;

Which book won the Booker Prize in Literature in the year 2022?
(1) Cursed Bunny (2) The Books of Jacob
(3) Heaven (4) Tomb of Sand

PG-EE-2022 (English) Code-D
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Pulitzer Prize for both Poetry and Fiction?
(2) Robert Frost
(4) Samuel Barber

Who won
(1) Robert Penn Warren
3) Edward Albee

Who won Sahitya Akademi Award 2021 in English novel?
(1) Sanjiv Verenkar (2) Kiran Desai
(3) Namita Gokhale (4) Sanjiv Varavara

Code-D

Read the following passage, and answer the questions:-

Skinner's system, reinforcement is automatic, almost by definition. l?erhaps
the most convincing demonstration of the automatic effect of a reinforcer
is what Skinner (1948) has called "superstitious behaviour". In this situation,
an event known to be reinforcing is presented intermittently without respect
to what the subject is doing. But if it is doing anything (and this can be
made likely through deprivation, etc.), the response just prior to the delivery
of the reinforcer is strengthened, as evidenced by an increase in its rate of
emission. The subject comes to "act as if* the response that has been
fortuitously strengthened somehow produces the reinforcement. This occurs
even though the reinforcer is actually delivered by a mechanical device
that is in no way responsive to the subject's behaviour. The automatic
effect of reinforcement is also illustrated in Skinner's effective techniques
of shaping behaviour. These procedures could hardly have sprung from a
point of view that regarded all behaviour as elicited. But with the organism
viewed as "emitting" the varied responses already in his repertoire, it was
an easy step to conceive of shaping. If the observer simply controlled the
quick presentation of a reinforcer, then he could strengthen any behaviour
the organism happened to emit. Responses not in the subject's repertoire
could then be built into it by appropriate arrangements of environmental
conditions and the successive approximation technique.

The procedure of shaping a subject's behaviour is related to his

(a) Susceptibility

(b) Desire for reinforcement

(¢) Responses already in his repertoire :

(d) Responses reinforced by approximation techniques

Choose the correct answer from the option given below:-

(1) (a) and (b) only (2) (b) and (c) only

() (c) and (d) only (4) (a) and (d) only

PG-EE-2022 (English) Code-D
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32.

According to Skinner, the superstitious behaviour of individual is the
outcome of

(1) Constant exposure to an event

(2) Exposure to an event without regularity
(3) Occasional exposure to an event

(4) Natural exposure to an event

33.

The delivery of the reinforcer gets strengthened due to
(1) The subject's involvement in the event

(2) Increase in the rate of reinforcement

(3) Factors such as deprivation

(4) The use of a mechanical device

34.

The responses that are not in the emission list of a subject, can be observed
by?

(1) Coercive measures

(2) Creating suitable environmental conditions

3) Inhibiting his natural emission behaviour

(4) Using mechanical devices for reinforcement

35.

The example of a mechanical device reinforcing the subject's behaviour
demonstrates

(1) The automatic effect of reinforcement

(2) The illusion of reinforcement

(3) The discrepancy in subject's behaviour

(4) The belief that every reaction is an act of reinforcement

36.

Train A leaves Mumbai for Pune at 5:30 a.m. and reaches Pune at
9:30 a.m. Train B leaves Pune for Mumbai at 7:30 a.m. and reaches Mumbai
at 13:30 hrs. At what time will these two trains meet?

(1) 7:42a.m. (2) 8:42a.m.
3) 9:12am. (4) 8:48a.m.

PG-EE-2022 (English) Code-D
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O 2109 @) 3109
| @ 4109 ) 6109

| No. Find the compound interest on Rs. 8000 at 16% per annum for 2 years 4
i
months, compunded annually.

should the watch be sold to earn 10% profit?
(1) Rs.1,980 (2) Rs.2,160
(3) Rs.2,220 (4) Rs.2,360

38. | A person incurs 10% loss by selling a watch for Rs. 1,800. At what price

(2) 30years
(4) 35years

’ 39. | The average age of a class of 59 students is 18 years. If the age of the
teacher is included, then the average increases by 3 months. The age of|
the teacher is
(1) 28years
(3) 33years

M 6
®3) 10

2 8
4) 12

If DRIVER =12, GOVERNMENT = 20, BELIEVED = 16, then BAT =?

Identify the clause of the underlined part:
He came in while  was out.
(1) Principal clause (2) Noun clause

(3) Adjective/relative clause (4) Adverb clause

(3) Taskitasaright
(4) He stood right in my eyes.

Identify the option in which the word 'right' is used as noun.
(1) Thisis a fault that will right itself
(2) Heis the right man for the position.

PG EE 2022 (English) Code-D
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43.

The old newspapers were thrown away by me. (Change the voice)
(1) Ithrow the old newspapers away.

(2) The old newspapers are thrown away.

(3) Tam throwingaway the old newspapers.

(4) 1threw away the old newspapers.

44,

Which pair of words are similar in meaning?
(1) Lunatic-mad (2) Guest-Host
(3) Knowledge-ignorance (4) Aversion-liking

45.

Identify the synonym of the word 'vigilance'?
(1) Corruption (2) Weird
(3) Vindicative (4) Watchfulness

46.

"To make both ends meet" means:-

(1) Tie a rope at both points firmly

(2) Bring two opposite things together

(3) To meet one's day-to-day needs.

(4) To bring two contradictory ideas together

47.

My friend me yesterday. j
(2) called off

(1) callup
(3) calledin (4) called on

48.

The referee was booked
awarded the team.

(1) in
3) for

his decision regarding a penalty he had

(2 by
(4) at

49,

A banyan tree
(1) must
(3) should

'to be here when we were children.
(2) may
(4) used

50.

Did he
(1) need
(3) dare

criticize my arrangements?
(2) ought

(4) must

PG-EE-2022 (English) Code-D
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No. | - . ich ean be substituted
1t of the four alternatives choose the one which ean be substitute
| «
Ou yrds/phrase

iven wc
| for the given se o
you can casily overcome this situation if you keep your head.
ou e HENIA

51 1) Keep faithin (2) ](olio\:(‘ n
:‘n Trust others (4) Remain ealm
[ f Change t he voice of the given sentences (Sentences 52-63)
9 \‘ We were paid a visit by Mr. Banerjee.
Dae

[ ’ (1) Mr. Banerjee had visited us.
[ @ Mr. Banerjee visited us.
| (3) Mr. Banerjee had paid us a visit.
() Mr. Banerjee paid us a visit.

753, | Lattle strokes fell great oaks.

[ (1) Great oaks fell with little strokes

‘ (2) Great oaks were felled by little strokes

| 3) Great oaks can be felled with little strokes.

“ (1) Great oaks are felled by little strokes.

— Which parts of speech do the underlined words show?
| 54. | She brought me round to her views?

(1) Verb (2) Adverb

(3) Noun (4) Preposition

Choose the correct option:-

Transformation of the sentence: Simple to Compound
He must work hard to make up for the lost time.

(1) He must work hard, cover the lost time.

(2) Making up for the lost time he must work hard.
3) He must work hard and make up for the lost time.
(4) Working hard will make up for the lost time.

56. | Tillin the blanks with the correct option:-
, they slept soundly.

(1) Hot though was the night air

(2) Hot though the night air was

(3) Hot was the night air that

@

4) Hot although the night air was

PG-EE-2022 (English) Code-D
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67. | Identify the clause of the underlined part:
Stand still, if you value your life.
(1) Principal clause (2) Noun clause
3) Adjective/relative clause  (4) Adverb clause
68. | He ___ nervous until I told him to sit down and relax. (Fill in the
blank)
(1) hasbeen looking (2) looked
(3) waslooking (4) may look
59. | You have hurried but you did. (Fill in the blank)
(1) couldn't (2) mayn't
(3) needn't (4) ought to
60. | Ram has revised all day. He be ready for his examination. (Fill in
the blanks)
(1) Should (2) Can
(3) May (4) Would

Read the following passage and answer questions:

There is a common thread running through the unravelling of India's
statistical system. A modern economy with sound institutions is
characterized by the timely dissemination of credible data. A long-term
policy needs an empirical basis and issues of the veracity of data will
influence investment decisions. In a country with a large population of
youth, data on national development, especially in core sectors like
agriculture, industry, health, education and employment, will be critical.
Here comes the role of the National Statistical Commission, a body created
to establish standards. Questioning the data veracity is a global
phenomenon. The official narrative is always questioned by the people on
the other side of the fence. Dissemination of economic data is essential to
reach out to the public who lived their reality. Lack of data will adversely
impact the quality of national policies. India must start strengthenijj

PG-EE-2022 (English) Code-D
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institutior

must be granted autonomy and insulated from - dicator
s . : c
autonomy will make their work credible. Anindl

Enhanced operational

. . 0 L ; ination ca
of operational autonomy is their ability to stick to a dissemination

regardless of what the data indicates.
What is important for a modern economy?

(1) A common thread

(@) Dissemination of credible data
(3) Unravelling of statistical system
(4) Selective Distribution of Data.

L. o " institutions
1s such as the central statistical commission. T hese 1S

1 external interferences.

lendar

What is the work of National Statistical Commission?

(1) Establishing Standards

(2) Questioning Data Veracity
(3) Questioning Official Narrative
(4) Supporting the Public Perception

63.

What does the passage ultimately suggest to National Statistical

Commission?

(1) Restricting policy decisions

(2) Critically examining data veracity

(3) Stick to a calendar of data dissemination.
(4) Support development in core sectors

64.

Investment decisions are impacted by:

(1) Youth Population
(3) Issuesof Data Veracity

(2) National Development
(4) Establishment of National Institutes

PG-EE-2022 (English) Coge
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How can the quality of national policies be improved?

(1) Byliving reality

(2) By supporting external interferences
(3) By controlling autonomous institutions
(4) By enhanced operational freedom
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Read the following passage and answer the questions:-

Perhaps what bothered the media in the 1970s was the shift in liberty
being suggested. For centuries, journalists had operated on the basis of
negative liberty, or freedom from external restraints. Suddenly, however,
the thrust was positive freedom, a freedom for the pursuit of some
predetermined goals. This new social responsibility seems grounded on a
school of thought that sees negative liberty as insufficient and ineffective,
somewhat like telling people they are free to walk without first making
sure they are not crippled. Who better than the government is able to
provide humanity with appropriate means? A government, even a
democratic government, is seen by social responsibility adherents as the
only force strong enough to guarantee the effective operation of freedom.
This does not mollify observers who find social responsibility to be only a
slightly disguised version of authoritarianism. Media philosopher John
Merrill has been one of the most outspoken critics of the theory. To him,
the proposition that pluralism of ideas should be governmentally mandated
is ludicrous. Journalists, he says, must retain their freedom to make their
own news and editorial judgements. Even well-intentioned attempts by
outside groups seeking media improvement are self-serving, and inevitably
lessen the autonomy of journalists, Merrill maintains. This leads us to the
issue of media autonomy

What was the basis of the operation of journalists earlier?
(1) Freedom of limited choices

(2) Social responsibility

(3) Free from outside pressure

(4) Government control

67.

According to John Merrill, seeking improvement in media, is:
(1) Appropriate (2) Well-intentioned
(3) Inevitable (4) Self-serving

68.

The passage critically analyses:

(1) Operation of journalists

(2) Mandate for government

(3) Social responsibility theory of media
(4) Regimented autonomy of journalists

PG-EE-2022 (English) Code-D
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Some scholars consider social responsibility aspect of media as;
(1) Negative freedom (2) Pluralism
3) Democratization of media (4) Authoritarianism

Positive freedom means:
(1) Grounded thought (2) Pursuing certain set goals
(3) Freedom with conditions (4) Providingidentified means

A sum of money doubles at compound interest in 6 years. In how many
years will it become 16 times ?
(1) -16years
(3) 48years

(2) 24years
(4) 96 years

| 72. | Incovering a distance of 30 km, Abhay takes 2 hours more than Sameer. If
‘ Abhay doubles his speed, then he would take 1 hour less than Sameer.

Abhay's speed is:
(1) 5kmph (2) 6kmph
(3) 6.25 kmph (4) 7.5kmph

73. | Thereis60% increase in an amount in 6 years at simple interest. What will
be the compound interest of Rs. 12,000 after 3 years at the same rate ?

(1) Rs.2160 (2) Rs.3120
(3) Rs.3972 (4) Rs.6240

74. | Inan examination 80% candidates passed in English and 85% candidates
passed in mathematics. If 73% candidates passed in both these subjects
then what percent of candidates failed in both the subjects?

(1) 8% 2) 15%

(3) 27% 4) 35%

75. | To complete a work, A takes 50% more time than B. If together they take

18 days to complete the work, how much time shall B take to do it?

(1) 30days (2) 35days
() 40days (4) 45days
PG-EE-2022 (English) Code-D
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76. | Which of the following fractions is the smallest?
(1) 61/256 (2) 121/512
3) 9/32 (4) 31/128

77. | How many digits are needed to write the numbers from 1 to 100?
(1) 100 (2) 198
3 99 (4) 192

78. | Aboat can travel with a speed of 13 km/hr in still water. If the speed of the
stream is 4 km/hr, find the time taken by the boat to go 68 km downstream.
(1) 2hours (2) 3hours
(3) 4 hours (4) 5hours

79. | Ina group of 26 persons, 15 like tea and 18 like coffee. There is no one who
dislikes both. The number of persons who like both tea and coffee is?
1 9 @) 7
3 5 4 3

80. | The simple interest on a certain sum of money for 3 years at 40 per annum
is half the compound interest on Rs. 2,000 for 2 years at 10% per annum.
The sum invested on simple interest is:
(1) 8750Rs. (2) 1750Rs.
(3) 2500Rs. (4) 3500 Rs.

81. | 'The man is no fool'. Which literary device is used in the statement?
(1) Euphemism (2) Periphrasis
(3) Litotes (4) Epigram

82, | Tam myself personally responsible for this,' is an example of what figure
of speech?
(1) Hyberbole (2) Tautology
(3) Apostrophe (4) Anaphora

PG-EE-2022 (English) Code-D
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What are the figures of speech used in the following lines by Blake?
"Tyger, tiger, burning bright

In the forest of the night

What immortal hand or eye

Could frame thy fearful symmetry?"

(1) Simile and personification (2) Irony and synecdoche

(3) Apostrophe and synecdoche (4) Metonymy and apostrophe

Hamlet, lying wounded, says to his friend, "Horatio, I am dead." Thisis an
example of?
(1) Protasis
(3) Prolepsis

(2) Anacrusis
(4) Pun

85.

"You have seen how a man was made a slave; you shall see how a slave was
made a man" is an example of?

(1) Bathos
(3) Chiasmus

(2) Epistrophe
(4) Anti-Climax

86.

A pause marking a rhythmic point of division in a line of poetry is called a/
an?

(1) Lamb
(3) Caesura

(2) Foot
(4) Kenning

87.

A dactylic (the noun is dactyl) consists of?
(1) A stressed syllable followed by an unstressed syllable.
(2) An unstressed syllable followed by a stressed syllable.

(3) Astressed syllable followed by two unstressed syllables.
(4) Two stressed syllables followed by two unstressed syllables.

88.
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"The ploughman homeward plods his weary way" is an example of?
(2) Litotes

(4) Hypallage

(1) Oxymoron
(3) Antithesis
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89. | 'Aposiopesis' is a rhetorical device in which (complete the sentence with

correct option)
(1) A speech is completed but half-heartedly.

(2) A speech is completed on a sad note and often reflects a pessimistic
ending.

(3) A speech is concluded on a happy note.

(4) A speech is broken off abruptly and the sentence is left unfinished

90. | "he gave the beggers a few coppers" is an example of?
(1) Synecdoche (2) Metonymy
(3) Simile (4) Metaphor

91. | Whois the first woman to win Sahitya Akademi Award?
(1) Amrita Pritam () Arundhatii Roy
(3) Anita Desai (4) Bratya Basu

92. | Who became the first black women to appear on US coin?
(1) Maya Angelou
(2) Toni Morrison
(3) Wangari Maathai
(4) Alice Walker

93.

'Eublepharis pictus' which was seen in the news in June 2022, belongs to

which species?

(1) Turtle (2) Spider
() Gecko (4) Snakes
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T i i Staff 99. | Who is the new Lieutenant Governor of Delhi?
B ; _chief of Army Sta
W /ing has been appointed as Vice-¢
|94 | Who among the following has been app B
| | )
| | recently? o s e
| jeev Dixit
| | VR Chaudhari (2) BSRaju .
| B i (3) Manish Takkar
| "‘ (3) Manoj Kumar Mago (4) PKPanwar

(4) Vinod Ram Sharma

_—T . ’ . . t: -
95. | PM Narendra Modi inaugurated Semicon India Conference 2022 100. | What is the theme of World "No Tobacco Day" 2022 that was observed

(1) New Delhi _ across the Globe by WHO?

(2) Vadodara ‘ (1) Quit Tobacco to be a Winner

(3) Bengaluru (2) Make everyday World No Tobacco Day
(4) Surat (38) Tobacco breaks heart

. .. (4) Tobacco : Threat to our Environment
96. | Which state cabinet approved 'Gene Bank' a first of its kind project in

India for Biodiversity conservation?

(1) Gujarat (2) Uttar Pradesh
(3) Himachal Pradesh (4) Maharashtra

Name the scientist from NASA who received World Food Prize 2022 for
herthis research in climate change & food production?
(1) Rattan Lal @) ' Cynthia Rosenzweig
(3) David Nabarro (4) Howarth Bouis

Who has won the formula 1 Grand Prix De Monaco 2022?

(1) Sergio Perez (2) CarlosSainz Jr
(3) Max Emilian Verstappen (4) C Leclerc
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